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Multiplicera med tio befogenheter (antal saknas)
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namn: Datum: Poing:

10, 733 x =1073.3 3,871 x =387.1
6,099 x = 6099 5,76 % =576

1,99 x = 1990 6,033 x = 603.3
3,439 x = 343.9 8,61 x = 861
1,978 x = 1978 3,538 x = 3538
1,43 x = 1430 10, 121 x =101.21
1,112 x = 1112 8, 405 x = 840.5
1,823 x = 182.3 7,229 x =72.29
6,072 x = 60.72 5, 875 x = 58.75
6,276 x = 6276 2,527 x = 2527
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namn: Datum: Poiing:
10, 733 x 100 = 1073.3 3,871 x 100 = 387.1
6,099 x 1000 = 6099 5,76 x 100 = 576
1,99 x 1000 = 1990 6,033 x 100 = 603.3
3,439 x 100 = 343.9 8,61 x 100 = 861
1,978 x 1000 = 1978 3,538 x 1000 = 3538
1,43 x 1000 = 1430 10, 121 x 10 = 101.21
1,112 x 1000 = 1112 8,405 x 100 = 840.5
1,823 x 100 = 182.3 7,229 x 10 =72.29
6,072 x 10 = 60.72 5,875 x 10 = 58.75
6,276 x 1000 = 6276 2,527 x 1000 = 2527
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